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1.
Introduction

In recent RAN1#39 and RAN2#45bis, it was agreed that a single RG (DOWN) command from non-serving E-DCH RLS is applied to all processes [1]. Then there are a lot of discussions on the UE behavior on the RG from non-serving RLS in RAN 1 conference call [2]. In [3], two methods have been discussed on how the RG received for one HARQ process can be applied to all HARQ processes. The merit is achievable in first method for TDM like scheduling by keeping different rates of different processes. However, most possibly the overload of the interference to non-serving RLS is still there if the first process has lower rate than other processes. In second method, maximum granted rate is aligned among all processes which will result in rate up when first process has higher rate than other processes. 

In this contribution, we focus on the UE behavior on the receiving RG from non-serving RLS and propose some schemes to solve those issues above. 
2.
The UE operation on the RG from non-serving RLS
As shown in Fig.1, the UE receives the RG=DOWN from the non-serving RLS for HARQ process 
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=1 in Fig. 1):

Step 1: The UE decreases the max granted rate,
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 [4] with respect to actual rate in the previous TTI for the same HARQ process 
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Step 2: Since the RG from non-serving RLS applies to all HARQ process, the 
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 for the other HARQ processes (
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Where the 
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is the total number of HARQ processes (depending on TTI, assume  
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 in Fig. 1) and the 
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is the maximum granted rate assigned to HARQ Process 
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 before it receives the RG from non-serving RLS.  The
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 is the maximum granted rate that can be used by the HARQ Process 
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 in the current transmission. If another RG from non-serving RLS  is received, the same procedure can be followed.
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Fig.1 UE operation on the RG from non-serving RLS
Some advantages can be expected from this approach. 

1. If the rate of HARQ process 1 in Fig. 1 is higher than other processes, the proposal presented here has advantages over both methods proposed in [3]:

a) Compared to [3] method 1, it avoids unnecessary reduction in maximum granted rate for the other HARQ processes.

b) Compared to [3] method 2, it avoids an increased max granted rate for the other processes after a down command was received. It also avoids that 
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 gets higher than scheduled by the serving NodeB.

2. If the rate of HARQ process 1 in Fig. 1 is lower than other processes, the situation is as follows:

a) In [3] method 1, the resulting rate reduction for the other processes will most likely not be sufficient. So further RGs would be necessarry to mitigate the overload situation. The approach presented here has the advantage of a lower signalling overhead and a faster reaction time against the overload situation.
b) our approach is same with second method in [3]. 

3. Our approach can keep the different rates for different processes in contrast  to the second method in [3] by avoiding over reduction on rate in first method.
The proposed method can be applied in both cases, whether ( (delta) is fixed or dependent on the bit rate (FFS ).

If the 3GPP decision is to use deltas dependent on the bit rate ((n), the (n corresponding to the bit rate of 
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3.
Conclusion

Since the RG from non-serving RLS is a relative simple DOWN command, it only corresponds to an overload indicator to non-serving cells. The overload is related to the actual rate of each process. Hence, this type of RG applies to all processes. On the other hand, . In this contribution, we propose an approache on how the UE handles the RG from non-serving RLS. It can be used for both scenarios: 
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 (delta) is either fixed or dependant on the bit rate (FFS).
Proposal: When the RG (DOWN) from non-serving RLS for process 
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is received, then the maximum granted rate for different processes will be:
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Where the 
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is the total number of HARQ process numbers depending on TTI.
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